Installation and debugging
strategy

from novice to semi expert
MNINBEI"HFESF"RY
TR EIEE

HIFISF
ZFELEIE SR EN

Real master

Cars are all personalized

BT RIS

ISR T A RAIR FHRGER
General installation details and skills
Application effect brought by vehicle parameter adjustment

MXBFIED IR NMECZ B

From here, walk out of your personalized road






PARTICIPATE IN EVENTS

S5/TIERESFNE

S P

-

TGRS HREMR GT86+V3 SUPRA+V3 GTR34 GT86+V1



INSTRUCGTIONS

RW 005
SR




About
Playing

BRIt



ABOUT
RW 00

P mAYER

&7 I—XRL
%5 OSN IR HE B T A MAOR EIFINE 1,

EREXR, RTIW—EF4L.

REATRE

T EFOABAER, LREZET
BERTRSHFREANTR. BB
LA LB RWOOF EELEE, 1LAR
tbREIXGRE

FIEMABRMNHEBFNAREE, &R
ESUARRRAEHENZR, BF litaraction
BARTUBECHRENRTAFLS
DR,

SRR 04
il

BREENRE
BBMBERE, HTRR—MELH
%, FRZETUBLBELD— R
ABECTRER, RENBTERE
2R BMEA,




01 COMMON TOOLS
ERAIR

ERNIAFTL,

fian: 7). W\, FH.
Wik, ERRER, EFR
L EnEREEAE,

IEIREFIRMAYEERE, B
. BB, Y. FEiR{
B MR B i By €5 i —

MERIEY TR,

iR
02 ELECTRONIC

ER ENETDIES
T8, SBENSFX
Bx, W¥/ERISCRRELRA

WR,

FREH
04 TUNING CAR

03 INSTALL
LA LR

R T MANZRIRE, EiF
HTE—LERAME.
IS,

s

05 DEVICE SETTINGS
REFIRE

BFRENSNoE, R
IFRFRRR. BFeHER
TEREENEEMRN S
Li= =t

FRrER &M TERRE
His. HhEmmEE. Hik
AE, HEpEREIAE,

HikE 2z @RS,

B i
06 DRIFT ROUTE

— iR IE E L REaY B
HEE . FREEER, X

07 SKILL
BRI

Wi T8-S
15, BEEMMRANE
U EERE.

Bz E AR TS

RS LL IR



2 oK/ VY /4
: O, .\_H_,_ OQ\‘\O

; )
] . .




Treatment of ball connector
ERSKHO4IE

During installation, if the ball connector is stuck or not smooth,
You can use pliers to clamp it gently at multiple angles.
It feels that there is a complete fit between metal and plastic.

ERFEANIRES , WNRERBRLH IR -FEANITRES |,
LR SRERREX—T. NEAREERES
BRIZEmEE.




PEREK

BTt

=

==

8 i
NG ot i
T T
Binn o
H
o B
e g i BX I 1
Hiloelm K=

Significantly improve flight distance and stability

New metal steering system

Rear suspended server
High traction bottom plate

Rear two-stage suspension

7 @ 5] &\\@‘

w\\\\\.\.,ﬂr-\ IR
N
R T

.A%@

..\‘

\

P

o))
=\

/| *,

O e = NO=
_,., 6 ) 7 ; Y, /
(B 3 ! \ 5




BiE¥EETHEELCEA

Increase stability
B R R FANE, BEESSERESE. SENHEEE

Default state Changing the position makes suspension
easier to compress and recover

ﬁ
BRUENE, FHEKELE, BN R NE, N
EREERERS, REXTH, (ERHEERERE, REXRZ.
Change the position of the gasket to Adding shims to change the
change the length of the force arm. force arm makes suspension
Make suspension compression easier compression more difficult
and recovery more difficult. and recovery easier.
—
Aﬁfex increases stability Increase corner exit performance
IEINEOREY IS AEE

y AR S

- W o —




. BUEEE=ETOBEUCEA
IEIN—EETR, SEEmREEINZY
Adding a set of shock absorbers will
make the steering performance more linear
Work after reaching Changing the position makes
" , the apex suspension easier to compress
Priority work during N RSB TIE
the Corner phase ) ERAIE, BEEAEEE
NEMERFTIF
ﬁ
Into the Corner to increase stability
NS EIEIMEEGE
Change the position of the gasket to ﬁ)drgéngrrsnhmq;kte% gﬂgngﬁsﬁgﬁ
change the length of the force arm. compression more dﬁ‘ﬁcult
Make suspension compression easier ex increases stability and recovery easier.
and recovery more difficult. HENEs EaE

. 3 e B
BE AR, KNS, TNE, _
RS, SR, EEEEETE, WEEAS.

y AR S (-

T, w0 0.0 —

Increase corner exit performance
n w n n s o




=== et

==

A RN

TIEE.

TR KA

Increase pendulum force to enhance overall flight distance.

HEINEPIERTT,

SR

T
T v oo C—

Multi segment selection



= o= New metal steering system
LS EEBRRSR

Add KPI parameters

IEINKPISE]
Add Trail parameter

MR AWD

EIERIE S







Rear toe adjustment
S

BT EAEELEM, AILUETRARIA/N,
BERTMRIZZSRRIET.

By adjusting this part left and right,
the size of the teo angle can be adjusted,
< = 0 = > suitable for MR mode and RR mode. —) €=




Rear anti-squat adjustment
=SB IEAAEEES

By the number of shim, 2x4x0.5 Shim
adjusting the anti-squat.

BYRAAE, EThIEA.

Starting action: fast Starting action: Normal Starting action: Stable

i N NN

ﬁ
Front of the car

RWO0OO0S

—.--.m--‘_




RWO00S
install

RWOOSZEZRH%E



2-M2x5

/ RH Screw

. 4-M2x3.5
Ball Connector

2-2x2.5x3.1
Guide sleeve

2-2.5x6x0.1
Shims

RIBEFRBER , ZERLERRHE,
KAgs A E , RER DEPRR.

Select the number of installed gaskets
according to the actual situation.
Mainly smooth and minimize the gap.




2-M2x2.5
Set Screw

2-10mm / ~

Ball Head

<~ 10mm —

2-M2x4
RH Scerw

{55 A 32 /Y
Using Short

RFEARESTE, EFKEFE

Choose long or short according
to different body widths.

my

2x4x0.1

Shims

401 52 I I8,
A HRYESEPRIB L,
LA E R,

If there is any difficulty,
shims can be added here
according to the actual situation

FEEESEZ 4mm
Adjust the distance to 4mm

WAEn A E, BT &/ NE.

Mainly smooth, and adjust
the minimum clearance.




2-M2x2.5

/ Set Screw

N
2-10mm P d
Ball Head ’%,
«—10mm— =
< ‘- \ ”~_ /"//

//
N IRIESERIER, WIE R 1.6x3%0.1
el N\ 4-1.6x3x0.3 EBERWR#HAE, RERDERR,
Ehie According to the actual situation, 1.6x3x0.1
gasketcan be replaced

b or added,Mainly smooth and minimize the gap
2-1.5x16

Pin

(EJERS:0)
Using Long

/—  AEESZES5mm
Adjust the distance to 5mm

Ball Connector

REBEFRESEE, EFKIHE

Choose long or short according
to different body widths.

<y




IRIBSERRIR, ATIEREM 1x2x0.1 B4, Ontional parts Bearing swing arm seat
LUGER A E, RERDERR, iﬁ%}'—g&@ﬂ{ﬂ: iﬁg(}%% —éﬁ%jj_]_:t

According to the actual situation,
1x2x0.1 gasket can be replaced or added,
Mainly smooth and minimize the gap.

2-M2x4

RH Screw j

4-1x3x1
Bearing

. &

() (V)

4-1x2x0.3
FLiZ R/ FLiZ R K ]

Small aperture Big aperture Shims
R IE R E RO FLIB R —HE, RIFSEFRIEN, AILAEIREGEIN 1x2x0.1 £ 5,
BRRAIPDIELN. A A E, RERDIEE,

The holes on the front and back _ ) )
of this bearing are different. According to the actual situation,

Please use the larger side to enter.

1x2x0.1 gasket can be replaced or added,
4-1x3x1

Mainly smooth and minimize the gap.

Bearing



AN L1101y

4

and adjust

the minimum clearance with shims

nepAhE, RERFAR

Mainly smooth,

CS Screw




-M2x4
RH Screw

2

AN



CS Screw




2-M2x5
RH Screw

2-2x5x2.3
Bearing

2-2x4x0.1
Shims

3-M2x3
Ball Connector

A] 7]
Movable



$RE& Silver #E Yellow

—\

3
EE M, 3.0 BFLEA &5 kATiE ]

Pay attention to the direction, 3.0 \
] X

2-M2x12

CS Screw
as indicated by the red arrow on the 3.0 inner hole

2-M2x6
Copper Column

T B E F KR
Fixed on the base plate first

2-3x6x2
Plane bearing

.“\_. :
\ 2-3x6x2

AL AR R, PRUEN R A0 (8] BR 2D, Bearing

The tightness can be adjusted to
ensure smoothness and less clearance.

2-M2
Nut







2-M2x6
RH Screw

2-M2x4
/ CS Screw Mﬂn@m

e \
lllﬁ_ﬂfli_’rjc%% _ DR
Clockwise installation Install counterclockwise

M2x3

M2.5x4 E%F%Eﬁ!]?;lﬁ }?EFI
AL Excplinaal1:] 8
CS Screw Remote control returns to the

center position,
and the angle of the servo arm
approaches the middle.

Ow—
’ —— -
/ I
2-M2x16 $84E ki
Aluminum column RH Screw

4-M2x7
RH Screw




4-M2x4
CS Screw




BUEEESR

oAEFIEMNE, FEE—ELTNFIERERIE
Adjustable front and rear positions to kee
M2x4 : ¢ i

the suspension in an excellent performance position
/ RH Screw

Front and rear limit positions
B H BRA ST B S S




3 2-M2x5
RH Screw

M2x3.5

2
Ball Connector



2-Whell Axle

IRt 122 3
Clockwise installation

S8 - - aCpw

\

6-M2x3.5

i, & Ball Connector

f‘“’% 2-2x4x1

% l\ / Shims

|

&R §H % 5%

, 7.5mm ;

m ' 2.5mm

/ Install counterclockwise




2-M2x3.5
Ball Connector ——~_ _

Ontions Front axie-AWD
% OPRI%CiHZ2<-AWD

4-M2x3
Ball Connector ~ |

Raw 2

2-2x4x1
: Shims

3x4.5x0.1 or 3x4.5x0.3
Shims

MRREE, HAKENEKRRAEDR,
ALLARIEMERHE.

If there is a situation of being too
tight or too loose after installation,
the number of gaskets can be adjusted.

2x3x0.1 or 2x3x0.3
Shims

MRLERE, HRKEHEKRDHER,
AJLLUAE B R HE.

If there is a situation of being too
tight or too loose after installation,
the number of gaskets can be adjusted.

Recommended hole

! : HEFREFLL

Downward
TA




2TERERE
2. Install the brake disc

1. RIZEBE e ER >
1. Put the brake inside first

°

2. TR TR
2. Install the brake disc

LIRIESCAREN | IR RIREE.

2 FERRF M BNIGEE | BRERER,

1. Select the installation quantity based on the actual situation.
2. First ensure the smoothness between the parts,

and then minimize the gap as much as possible.

1R ZEE5eiER
1. Put the brake inside first

\!{ @i\;\y}j
\ =P

1.5eR%,
1. Install first.

Optional parts
TR B

2. Rear installation.




Shock absorber angle effect

1. At the hole position close to the inside,

the turn in reaction is fast, and the out turn points to the outside.
2. At the hole position close to the outside,

the turn in reaction is slow, and the out turn points to the bend.

i R =R A LR
1. FAMFLEL, ATRMR, HEE@MNE
2. FHMOFLGL, ATRIE, HEEEAES

iy

Short

;Ei
iy

Short

=
S=
Sc..gg Handle the clamping line of the

1< o shock absorber rod to be smooth.

Long '\ BB ETHASELENRS

Hard — \

Handle the clamping line of the
shock absorber rod to be smooth.
LB ETREEREEENLS



=== et

==

A RN

TIEE.

TR KA

Increase pendulum force to enhance overall flight distance.

HEINEPIERTT,

SR

T
T v oo C—

Multi segment selection



Reference data
SZ580E

A

Y

HEE TEE

Upper swing arm Lower swing arm
(D ()
J‘_| \_l‘l
I J _
O O
_ O

—D nosition
U E

Choose different positions
based on the width of the vehicle.

RIEARER, EARRME.



No. CGastr position Offset A B C D Remarks
e EIR
AL 3 oo EpEER | BiLEE
Fs FiHER FUAz HEIEE TEK FEK NE . o = pa
(REKE) Narrow tire | Wide tire
(0-1.5)
1 / H -2 3 2 4.9 0.4 /6 79
2 / H -2 4 3 5.9 0.4 /8 81
3 7 H o) 5 A 6.8 04 30 33 Recommend
' ' i e
4 / F -2 6 5 5.8 0.4 82 85
5 / F -2 / 6 6.8 0.4 84 87




,I
(EFRRVIRFTRESCiB
Sand smooth with
sandpaper
Jq SAERONETE— KR L |
BAFELLE  NERESH L.
First drop the glue on a piece of waste paper,

then dip it with a toothpick
and apply a small amount on the parts.

4
’ MR EAHTES | WINEERNERIK , BEIME, FEARERARE,
& This part needs to be assembled first.

Use a small amount of glue on the outer layer to fix the outer ring.
Be careful not to point in the inner ring.



Differential mechanism
ZEIREE

Bearing

SRR, EWTIES.
After locking,

i M2x4 : :
Bearlng the vehicle runs in.

\ RH Screw
ZIEHEEEEE

3x6x2

10-1.9mm
Ball

6x10x2.5
Bearing

Description of differential damping effect
ZIHR 25 EE BRI B

1. The damping effect is large, the rear of the vehicle is easy to adjust the angle,
and the vehicle accelerates slowly.

2. The damping effect is small, it is difficult to adjust the angle at the rear of the vehicle,
and the vehicle accelerates quickly. (differential oil is not recommended)

1. HEHERX, FREAEAESS, FWINEE.
2. PHEXER/N, ERAEAERME, ZFEWMINER. HEFAERZERER)




1.5x5
Pin



Belt drive installation method
RfeaIREAT0

2-M2x5

RH Screw /

b

i (e

‘-

-
‘-

2x4x0.3
Shims

M2x5
RH Screw

M2-10
Aluminum Column




Timing belt 38T /



Belt drive installation method
R =T\

3x6x2

Bearing
M2x4
/ CS Screw

RH Screw




. 2-M2x5
Bearlng \ RH Screw
il
2x4x0.3 | ‘—-
Shims }j B

\ .
RH Screw

M2-‘|O
Aluminum Column




4
\ .
\ -
3 ’
\
\
\
\

LN

X O
N
 w Y

Y
\



Gear transmission installation method
HEAERIZETT T

3x6x2

o \
M2x4 /

CS Screw

RH Screw




ive installation method
T

Ik Y]

Belt dr
+H-
EZ'FE'

4-M2x4

/ RH Screw




tallation method

PSSR Y b




4-M2x3.5
Ball Connector

2-M1.6x3
RH Screw

4-3x6x2
Bearing

mEpiEsh, WMRE, BAIRE—T.
Smooth movement is required.
If it is tight, please scrape it with a blade.

2-M1.6x4
RH Screw

-
-
-
-

)

2-1.5x9
Pin




2

2-1.5x14

Pin

RAHEiE, mTE
Clamp with pliers and press down

3
AN

MRS
Relatively tight

Z¥#E, B PIn Y, AFT—O &%,
After installation, take out the pin, For the next installation.



RASHFE, EITE

nl

| \i Clamp with pliers and press down
| \ B 2-1.5x14

\J / Pin

A AR
Relatively tight




4-1.6x3x0.3
Shims

IRIESEFRIESL, RAILAE#REIEAN 1.6x3x0.1 B F,
LUngs A E, RERDER.

According to the actual situation,

1.6x3x0.1 gasket can be replaced or added,
Mainly smooth and minimize the gap.



E&2rl, BOABETE, sifER. (EH)
Upper installation hole,default
suspension travel, fast action.

Bearing - Rear Lower Arm

A - 2zl =Ev
Onptional parts R - S IR
RTINS ETTE, DS A SEAETL T

Lower installation hole,Increase suspension
pin

travel and linear action. (Recommended)

HeZe k7L, BEREAERAEI1.4X10 Pin, |
This installation hole requires replacement
of the 1.4x10 pin in the accessory package.

4-1x1.5x1.8

Guide sleeve \06‘)
(Recommqelmded) ¢
HENEE&

Increase suspension
linearity

HIRE RS _
Accelera_ted suspension
restoration

4-1x3x1

Bearing l
AN 7 /
&)

(X) (\/) 4-1x2x0.3 . )

. o %
AL EmA Al
Small aperture Big aperture @
QFLIE R —A RIBEFRIER, AIIAEHREIEM 1x2x0.1 # 5, 2" ' "

st UMM E, SRR EH. o : 2ENTL0M0
RH Screw

The holes on the front and back According to the actual situation,

of this bearing are different. 1x2x0.1 gasket can be replaced or added,

Please use the larger side to enter. Mainly smooth and minimize the gap. 2-M2x4

RH Screw




Belt drive instaliation method
Rt m%a=a\

EHERIAF A Belt mode features:

1. EWERNTE. 1. The car reacted slowly.
2, ITIMIEES. 2. Easy acceleration.

3. BERL. 3. Less noise.

M2x4
CS Screw




Gear transmission installation method
PSSk YR

v
M2x4 rd

CS Screw

Hreleah&TE S
Gear drive installation mode
Gear mode features: ER RS S

1. The car reacts quickly. 1. E4RE R,
2. It is difficult to accelerate. 7 {7 i%E .
3. The noise is a little loud. 3, BERKX.



2-10.5

-/ CVD

2-3x4.5x0.1 RIECIREMIEEL SRR AVEE

/ Shims HAEEFBE, FRABERIE,

Select the number of installation

gaskets according to the actual situation;

Prioritize smoothness and minimize gaps as much as possible.

THZEEFELUNRTENNTE,
WA RES RS HEE

The following installation will mainly focus on
belt transmission as a demonstration,

and the installation steps for gear transmission will also be the same




4-M2x3.5

/ Ball Connector




2-M1.6x8
Set Screw

19.7




2-M2x4

ﬁ RH Screw
W




LK
ong—_ I
i

ngft b o
e

=
L;f\gﬂ L

Handle the clamping line of the
shock absorber rod to be smooth.
WMIEBREFNSREZENLR




taliat

EaIREID

Belt dr
Kz

=
§E

R R LTI 5%

Belt pulley groove alignment

~

32

T HEK

H

The belt cannot be too tight

5



ion method

tallat

WRENREL

Gear transm

I Z BR8] PR AN T 4R

s s
mitE,

=
(<))
Q
=
—
Q
0
@
|
-
4"
S
4]
L,
=
<F)
b =
—
-
o
ki
—
D
-
o
=
Q
v
3e]
W
(o

b
= =
k=)
-
o
o
s
v
DO
b
o
=
i)
b
O
F
v
v
S
(4]
Q
(@)
Q
<
=

RH Screw

\\\\a . :
N [ @

//Mﬁ

Ny

@sﬂ7UJ_@w

S




2x2.5x3.8

Guide sleeve
9-M2x6 =as, EnHsEEN.
-IVIZX This installation method
RH Screw J increases the twisting ability.
2-2x1
O-ring
2-M2x3
Stud

SHFAE
High twisting state

2-2x4x0.5
Shims

2-2x4x1 /

Shims

ZEEA, AR,
This installation method
reduces twisting ability.

3-M2x4 / RS
RH Screw Low twisting state



A SE— o) A —

N LN

—mm_

High traction bottom plate
SE5 | IEiR

Increase the adjustable torsion
of the base plate to improve traction.

IEINEREIER I, BEFS(.

Adjustable left and right twisting
AARAAHN




2-M2x4 4

CS Screw







2-M2x6 @ gz‘aignet
Set Screw '@ /7
Zﬁ 2-M2x10
Aluminum column
2-M2x5

i / satt

RH Screw \?

2-M2x5




TR

% 2-3x8

2-M2x6 . gﬁzgnet
Set Screw \ %
-
i 2-M2x10
Aluminum column
. fatE
2-M2x5
RH Screw \

- a
| |







./ww‘ i .. = o) Ve
) A [ A 4 h(.#z/‘... 2 3
\in .f\ «\ ; e 2 I S

I
D

;3
™,

2-M2x5
RH Screw

\ &

L
N /

—

w/”/”f. -
oy

o\



Left and right symmetrical installation
EEAXIIREEE

2-2x6x0.5
Shim

~O~~-
0 4-M2
¢ Nut

2-3x4.5x0.1
Shim

RELHRERERTEBR WME,
REZEEBE, IHEARERDER,
Select the number ofinstallation gaskets
according to the actual situation;
Prioritize smoothness and minimize
gaps as much as possible.



RW 00T



Options
accessories

i Hc i



Rear two-stage suspension
e ERTVEE=

6-M2x3.5

Ball Connector \

4-M2x5

RH Screw
2-M2x10 \ g

m__ -

RH Screw _\
-
2-2.5x6x0.1 /

Shims

IRIBEFRIFRN, EFTREDRRHE,
s A E, RERDER,

Select the number of installed
gasketsaccording to the actual
situation.Mainly smooth and minimize
the gap.

2-2x2.5x7.6
Guide sleeve




=
—— Adjustable exhaust shock

EERDR R e

Add bearings to enhance the initial spring response.

IENNEAAR, IRFTHIEBSHEERA,

Screw in

BEREFT N

exhaust vent 9 1
|
1

HFSAL

Adjustable height
TR

|

l

I\

e —
-
—
i —— =

Bearing

S




OPRitCHNZZ<

2-2x4x1

1 HIEMETE, TEEALL
O-ring ek zEsl A1,

Selective installation can increase
the traction of the front wheels
after installation.

2x3x0.1 or 2x3x0.3
Shims

MBERER, HIASHEAMGER,
AT LA R I A .

If there is a situation of beinlg too < 3/
tight or too loose after installation, W
the number of gaskets can be adjusted.

O Bl %xuE

Installation position of O-ring




HIGH TRACTION SHOCK ABSORBER

IRESIREIR , IR RS LM,
BURHE A T | R &R D IER,

Select the number of installed gaskets
according to the actual situation.
Mainly smooth and minimize the gap.

4-2.5x6x0.1

Shims 2-2x2.5x3.1
Guide sleeve

6-M2x3.5
Ball Connector

Soft Hard



AIER%TZ% , REARRE,
It can be installed in front and back,
with different widths.




3x4.5x0.2
Shims

A RIBHRRIIAEZIEE | 1IN E R DEE,
The number can be increased or decreased
according to the tightness of the bearing.



Soft

Hard




Drift tire

ELEZ S

7" | +T

SEfREftthEERRAERE.
The actual contact area 22x%26.5x10.5mm
9mm with the ground is the same.

10,

22x28x10.5mm

22x28x9mm



AIEmEsE | ROE.

Smoothness and concentricity can be increased.




Tuning car

EREAR



EEEAL [ ZR 5T

1. S TEERETAEEF T

1. First adjust the lower swing arm to be
nearly parallel to the ground

2, LABRKAFASEY), BEEATIREIFEE, £E%IR.

2. With the ball connector as the reference object, adjust the
steering mechanism to the middle position and be
symmetrical left and right.

3. EERRABAINITRE.
3. According to the pull rod length
in the instructions.



How to obhserve Ackerman
A EIPULE G R =

Move the line of sight to the
coincidence of the upper and
lower swing arms for observation.

EMEBE E FEEESHITIE.

This is just above, and the upper and lower
swing arms do not coincide.
The observed Ackerman will be incorrect.

XRIELS, LTEERBES.
MR T EAF A IEH.

Tl
T

:

e

o



How to adjust Ackerman
UICINERE] G P

SERMISHRIEASE

Use grid plate as reference

— 1. FagshARMEE , SEEHB T FRIEA.

1. Manually move the inner wheel to find the

—— minimum included angle between the two wheels.

2, FETHIMUECAORIAT |, CER NS FRISRABIEATT |
{EFREEHINARE.

2. Adjust the pull rod of the outer wheel so that

the included angle of the two wheels is close to

IREEUEN ETEE  FEEER—EBZ.
WNRHIM R | 1BEAH B EEILE.

Note that the upper and lower swing arms
at the dotted line need to be installed in the
same straight line. If there is an offset,

use pliers to correct the position.

ERERBRGE
MRETRE.

Use the same method
to adjust Ackerman
symmetrically.

YRR E ek |, ARER
BRI B EELEH,
After the physical Ackerman
adjustment is completed, then
use the remote control to adjust

the steering mechanism to the center.



